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Name: Date:
A2~ MNU 303a Bronze Outcomes 1-4
o Calculate
92-75 42-37 B:-67
+26-24 - 928 x b

4662

2 cups of coffee cost £1-60.

&~ MNU 308a Bronze Outcome 1

&3
How much does it
cost for 1 cup? e
3~ MTH 314a Bronze Outcome 1
s Simplify
(@) 6x+9y+8x+7y
(b) 10xp
A%~ MNU 303b Bronze Outcome 4
& Calculate
98 720 -+ 80
ContSmartl ) A&~ MNU 309b Bronze Outcome 1
& How much T e
does it cost ¥ ¢
for a packet | %™ 9F S5
Of biscuiTSl pqpflr(‘ef F:Z;‘ papflr(‘e'r
a dozen eggs 'Y ) ©
and a can of Apples Eggs Cheese
£137 £262 £168
cola from i e
CostSmart? | g domen block
My score:

What have I learned so far 66?
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Date:

& Calculate % of 81 millilitres.

JZ~ MNU 307a Silver Outcome 2

& Calculate 55% of £860.

~Z~. MNU 307a 6old Outcome 3

e What is the probability of
selecting, at random, the
letter E from the word
ASSESSMENT?

Give your answer as a fraction
in its simplest form.

Z-. MNU 322a Gold Outcome 2

& What is the highest common
factor of 36 and 48?

&~ MTH 305a Silver Outcome 4

4 Calculate the size of the
missing angles below.

A%~ MTH 317a Gold Outcome 2

My score:

What have I learned so far 66?
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